Invarse Relationships AddiSub ()
Iesiructicns: Lisss tha nfomustiom givan B2 M in esch box

since S + 11 = 16 gince 13 =+ & =
then 16 - 5 = them 21 - 13 =
snce 12 + 9 = since 9 + 15 =
then 21 - 12 = them 24 - 9 =
snce 1% + 12 = since B + 9 =
thwen 31 - 19 = them 15 - & =
since 11 + 12 = gince 5 + 9 =
thvann 23 - 11 = than 14 - S5 =

snce 11 + 18 since 14 + 18

thean 29 - 11

since T + T
them 14 - T

=ince 15 + 7
han 22 - 15

sincE B O+ 19
theen 27 - H

snce 12 + 11
than =23 - 12

since 18 + 10
them 26 - 16

since 17 + 12
thann =25 - 17
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